Rapid Reasoning | Answers Year5 | Week 3 | Day2

m There are 810 people watching a concert. m A rectangular sticky label has a width of
640 of them are adults. 7cm and length of 12cm.
12cm Not to scale

How many are children?

170

cm

1 mark

m A number becomes 317,000 when rounded

to the nearest thousand. What is the perimeter of the label?

The number is made from these digits.

ORURONEIRTIRG

Write two possible numbers that it could be.

38 cm

1 mark

317,084

317,408

1 mark
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Rapid Reasoning | Mark Scheme Year5 | Week 3 | Day2

Requirement Mark | Additional guidance
Q1 170 1
Q2 | Anytwo from the following: 1

317,084 317,048
317,480 317,408
Q3 | 38cm 1
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